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Example 9. Pupils’ achievement, home, school and teacher variables. A sample coleman.dat
of information on 20 schools from the northeast and middle Atlantic states

drawn from the population of the Coleman Report is tucked into the computer.
Its 5 variables are: ——

y
x, = staff salaries per pupil,

x; = 6th grade % white collar (father),
x3 = SES (socioeconomic status),

verbal achievement score (6th graders)

x4 = teachers’ average verbal scores,
xs = mothers’ average education (1 unit = 2 school years),
and the regression that comes out is

/,.-"._ .-'\\
y =19.9 < 1.79x} + 0.0432x, + 0.556x3 + 1.11x4 — 1.79xs.

The coefficients of x, and xs are unexpected, certainly in sign and probably in
magnitude.

When we have lots of variables, especially variables competing to ure |
the same thing, as variables 1, 2, 3, and § all do, it is very hard to interpret the
coefficients. One way around this is to try to make one variable out of all the
variables supposed to measure the same thing, here some combination of
socioeconomic status and interest in schooling. '

Here the SES variable x; is already an attempt to weight together several

economic variables. It might be wise, alternatively, to use it and X4 without the
other variables.
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